MIAM I-:DAD:E MIAMI-DADE COUNTY, FLORIDA
N METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Tishler Und Sohn (USA) Ltd
Six Suburban avenue
Stamford, CT 06901

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in arcas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code. :

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: The Tishler Series “Inswing Mahogany Turn & Tilt Windows”-Impact

APPROVAL DOCUMENT: Drawing No. TS-19, titled “8’-0” Mahogany Inswing Turn & Tilt Window,” Sheets 1
through 17 of 17, dated May 03, 2001 and last revised on 10-30-2002, prepared by manufacturer, signed and sealed by Vipin
N. Tolat, P. E., bearing the Miami-Dade County Product Control Revision stamp with the Notice of Acceptance
number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large Missile Impact Resistant

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any -
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 01-0614.11 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Ishaq I. Chanda, P. E.

NOA No 02-1104.13

Expiration Date: October 12, 2006
Approval Date: March 13, 2003
Page 1




Tishler Und Sohn (USA) Ltd

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA.)

DRAWINGS (transferred from file # 01-0614.11)

Manufacturer's drawings and sections.

TS-19, titled “8’-0” Mahogany Inswing Turn & Tilt Window,” Sheets 1 through
17 of 17, dated May 03, 2001 and last revised on 10-30-2002, prepared by
manufacturer, signed and sealed by Vipin N. Tolat, P. E.

(Note: Sheets 7 thru 12 have been revised for hardware attachment screws)

TESTS (Test reports originally submitted for file No. 95-1215.04 & transferred
from file # 01-0614.11)

Test reports on:

1) Air Infiltration Test, per PA 202-94

2) Uniform Load Static Air Pressure Test, per PA 202-94

3) Water Resistance Test, per PA 202-94

4) Forced Entry Resistance Test, per SFBC3603.2 (b) 5.

5) Large Missile Impact Test, SFBC PA 201-94

6) Cyclic Loading Test, per SFBC PA 203-94
along with installation diagram of an inswing French wood door marked-up by
Construction Research Laboratory, Inc., Test Report No. 6167, dated June 23,
1995 and revised by addendum letter dated October 21, 1996 both signed and
sealed by Vipin N. Tolat, P. E.
Additional test reports to qualify curved shapes submitted per file No. 01-0209.14
Test reports on 1)Large Missile Impact Test, SFBC PA 201-94

2) Cyclic Loading Test, per SFBC PA 203-94

along with installation diagram of Round Top outswing French wood door
marked-up by Construction Research Laboratory, Inc., Test Report No. 6474,
dated 11/10/97 thru 10/20/98, signed and sealed by Nariman S. Balsara, P. E.

CALCULATIONS (transferred from file # file No. 95-1215.04 & 01-0614.11)

Anchor verification calculation dated July 10, 1995, prepared signed and sealed by
Santiago A. Tablada, P. E. (From file #95-1215. 04)

2. Additional anchor verification calculations and structural performance dated 06-04-

A.
L.
2.
B.
1.
2.
C.
1.
D.
1.
2.

2001prepared by Vipin N. Tolat, P. E. Consulting Engineer, signed and sealed by Vipin
N. Tolat, P.E.

MATERIAL CERTIFICATIONS

Notice of Acceptance No. 01-0205.02 Expires 01/09/00, for “Saflex PVB Interlayer”
laminated glass by Monsanto (as tested).
Notice of Acceptance No. 01-0205.02 for “Saflex /keesafe” laminated glass by Solutia
Inc. ,with expiration date of 05-21-2006.

\.9‘\.‘\4 1. Lhsuda

" Ishaq L. Chanda, P. E.

Product Control Examiner

NOA No 02-1104.13

Expiration Date: October 12, 2006
Approval Date: March 13, 2003



Tishler Und Sohn (USA) Ltd
NOTICE OF ACCEPTANCE: _ EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA.)

D MATERIAL CERTIFICATIONS (Continue)
3. Notice of Acceptance No. 00-0614.09 for “HRG-2" laminated glass by Viracon Inc.,
with expiration date of 10-16-2003.
4. Test report No. 00-010FST dated 06 March, 2000, issued by Construction testing Corp.
for “BTI-Masonry” anchor, signed and sealed by Yamil Kuri, P. E.

E. STATEMENTS (transferred from file # 01-0614.11)

1. Statement letter of conformance and “No financial interest”, dated 10-31-2002,
signed by Vipin N. Tolat, P.E.
2. Statement letter of conformance and “No financial interest”, dated 06-06-2001,

signed by Vipin N. Tolat, P.E.
3. Statement compliance letter, as part of the test report CRL 6474 & CRL6167
issued by Construction Research Laboratory, Inc, signed by Richard Sembello.
4. Letter issued by Tischler Und Sohn, dated September 26, 2001, delegating Mr.
Vipin Tolat, P. E. the technical consultant on behalf of the company, signed by
Steve Albert.

F. OTHER

This revises NOA # 01-0614.11, expiring October 12, 2006.

Test plan dated 06-17-1997 issued by BCCO.

Outswing Mahogany wood Door NOA # 01-0209.14.

Glazing complies w/ASTME-1300-98.

Previous NOA(s) associated with this file are #95-1215.04, 98-0811.03 and 01-
0614.11.

SNk =

| ghas ). Lhaud =

Ishaq I. Chanda, P. E.

Product Control Examiner

NOA No 02-1104.13

Expiration Date: October 12, 2006
Approval Date: March 13, 2003



TISCHLER N0 SOHN

Tischler und Sohn (U.S.A) Lid.
Six Suburban Avenue

TESTING OF WOOD WINDOWS & DOORS

DADE COUNTY - FLORIDA

VIPIN N, TOLAT, P.E.

Stamford, CT06901 USA
Tel.: 203/674-0600
Fax; 203/674-0601

E-maj: dtwedt-tischler

8'-0" MAHOGANY INSWING TURN & TILT WINDOWS

FL. REG.# 12847

J

ELEVATION OF

@worldnet.att.net

Date: May.03,2001

Shest 1 of 17 Scale: 1/2'=1-0"(1:24)

Revised: 10/30/02

Drawnby: RJ / Drawing Mo. T5-19
7 .

6 - Bmm screws @ 3/4' 0.0

10,11,12

WINDOWS

@ % ltemK, sheet 16 - :
VAR %%‘ D /S 8. 10 w G e e\ e
287 _ 178_g3p3 178_ 287 . [ ] | | | i | 1 \/L\ |
i
= l . - B T i { ; : é 1 Y
T F A Al A& 1 © . N . - N ©
_ o bt 4t
©
= 687 (23 1167 = . . ee7[281/1e] | .
2 ~ DAYLIGE-{T OPENING ] 8 2 i DAYLIGHT OPENING T
% 7 C‘ﬂ“ - ulﬂhmﬁ—]
1o FE AN gre > ¥
& i v Fl—t
~ bt R Tl i e i il
=)
M) [0 (&
5 g2l |[S9F |- . g2 | || |
3 =0 A S5 = -
=F % c5 &
2ol = 9|E 20 Sl
mAl : gl o FIE ¢4 ST 3z
IR 83 g S 29 NI
E ; Rz | [l B o i S o 2
e .
= e B + -t T
[Tel
cp % *
o 5 5 - & -
_ & B | 5,
2 8 e ¢ 1T g 7
= ] S S =
£ e ¥ ¥
g ot
o s B i L e o
.3 F AbdA A F ] S . ;
et — e — T | e
287 178 163! 178 287 ;
S %% o e !_6" l 10 I 10 | % l%ﬂ & ] 10 | 10" ' 6" ‘
1829 4 1829 z
[6-0" max.] ' [6-0" max.] o
The sections through the units show the
overall size and configuration of the members.
For details of hardware within the members, 6mim screws
see the hardware details on sheets 14 through 17. ltem K, sheet 18
(typ. all around)
?;z‘ 8% e 158 .59/1'6“’. g .9
3, 213 192
8
"t & RN
1 2 ! }
: o [
. 8872317167 | _| & . | 687 [2-31/167 .
DAYLIGHT OPENING L = DAYLIGHT OPENING ™ | b
—ls
C _— L o e
st 0 O ey
TE B % >
=2 ~Ne ~92
2B 2% A "%’ ¥ 2% ¥ —
Ll o -a - )
@]
= 20— g2 2 L1 gE
Il 29 she o 22 )
i/ I ST = o (18 g o |2
¥s q H-
C = %
18 j"; - 5 =
) B
I 8 il 3 dd
e : :
c
~EE B e ek ol
A A A [E A T
L I |7 L v P
@5% & G 1 N - I [ S ]
483178 | 287 ' 3 i
AR A 159/16"! ¢ | o | 9 !59/161'
969 _ ; 969 1
[3-2 1/8" max.] ' [3-2 1/8" max.] ‘
2
10,11,12
} : . _ MROBUCTREVISED
WINDOWS Design Pressure Rating (Positive) +55 PSF wm e Floridg
; - - Hiiag Code
Design Pressure Rating (Negative) | -87.8 PSF Actiptasee No_22- WOU . 12
. Dute OCToRER T2, 200 (>
By 1) \ Lhaud,
GLAZING TYPE 1: GLAZING TYPE 2: v el C
STANDARD BENT GLASS VIRACON HRG-2 | o

1/4" CLEAR ANNEALED GLASS
+ 0.090" SAFLEX PVB BY SOLUTIA
+ 1/4" CLEAR ANNEALED GLASS

g

1/8" CLEAR HEAT STRENGTHENED GLASS
+ 0.050" URETHANE
+ 0.080" POLYCARBONATE
+ 0.050" URETHANE
+ 1/8" CLEAR HEAT STRENGTHENED GLASS




T S 5.0 s ~ DADE COUNTY - FLORIDA |

Six Suburban Avenue TESTING OF WOOD WINDOWS & DOORS VIPIN N. TOLAT. P.E
Stamford, CT08901 USA ‘ ' FL RIéG # 12{%4} . 2
Tel.: 203/674-0600 ROUND TOP ELEVATION OF o
Fax: 203/ 674‘?6(;: 8-0" MAHOGANY INSWING TURN & TILT WINDOWS )
| _maii: dtwedt-tischler -4
| TISCHLER 180 SOHN “™" @woridnetattnet | pare: May.03,2001 | Revised: 10/30/02 | Sheet2 of 17 | Scale: 1/2'=1-0*(1:24) | Drawnby: RJ / Drawing No. T8-19

/

6 - 6mm screws @ 3/4" 0.c,
ltem K, sheet 16

-

%
O
S 2

o 0 |=

- & T o |E

) T+ 687 dde e | D

- 2rke = ) {2-31/189 @

8 | 68723118 | 82’ X ggo DLO 5 olg

DAYLIGHT OPENING |, ot § £ B-2 g e

e Jo 1T e RRE

——. Q‘ Fa =O(

o ©

¥

G4

]
é

365
{
420
o
[ a3}
1065[3'6]——————'4
(@) -
. 374
185
10° , 10
T
i
3
*
=]
1065[3'6]-———————01
R 3
10 ;10

Uém
(150 _
7/ 1 s
¥
("3’_03

Ll g & 2
pS S G4 EEN ‘g —ta iofmanion L madi ol
. u&wg =} =]
il o T
Shis T TT.¥
"1°3§L" G2 F A‘ A i A A F "1 N ::i_ i 1 i m ! i { QZL 1
1 [._287 178 _J3eg 178 | 287 | l i " i ‘ i % ! W F ] ? i I l
W %% RN S O O . WO ¢ 1 T I
1829 !, 1829 : !
- [6-0" max.] [6-0" frame width]
(2
10,11,12
WINDOWS The sections through the units show the i
overall size and configuration of the members. — ‘ ; -
For details of hardware within the members, DLO Day nght Openlng
see the hardware details on sheets 14 through 17.
& . 10°0C.
) .
Q\@b@ Brrim screws
ltem K, sheet 16
(typ. all around)
—[B
+ ¢ +
. es7[2Bi1e] | . ee7[2-BiMe] |
T DAYLIGHTIOPENING Bray . DAYUGE—!T OPEN!]NG o
D 4 F i

9 o V]
g ez Sk —_ . 52 o
S : - = - :
=5 ol & 25 ol 8
oo
{8 ek c 3 £ LI A BE e 8. FHE
o5 & 28 Frle D g% NS
=} - 1
1/ i Rt 2, o | ~% ¥ |2
gigg z\;"’? Lo donts 50 SN
¢ o X ks
e % 3
) 5 2
< w0 SR 0 poorde e
g 8
e x E:
C
™~ B e et ——t
LN T - A [ © ©
a7 | GI (32 ¢ ¥ 1 i ] i i v v
3 483178 | 287 . i i i fg
o 1 EA&"L g | g | g _!5 1@’1
969 i ’ l 969 l
[3-2 1/8" max.] ' [3-2 1/8" max.] '
N PRODUCT REVISED
with the

WINDOWS m oY1

Design Pressure Rating (Positive)

Design Pressure Rating (Negative) | -67.8 PSF n‘ ) &l . Lhaude
T ‘ Midmi Detic Cs
Divisios




| und Sohn (U.S.A) Lid, .. COU - FLOR‘DA
Six Suburban Avenue TESTING OF WOOD WINDOWS & DOORS VIPIN N. TOLAT, P.E.

Stamford, CT08901 USA
, . REG.# 12847
Tel.: 203/674-0600 ARCH TOP ELEVATION OF FL.REG

Fax: 203/674-0601 8-0" MAHOGANY INSWING TURN & TILT WINDOWS

E-maii; dtwedt-tischler . v
@worldnetattnet | Date: May.03,2001 | Revised: 10/30/02 | Sheet 3 of 17 Scale: 1/2'=1-0*(124) | Drawnby: Rd / SV

~ —=

6 - 6mm screws @ 3/4" 0.c.
ftam K, shest 16

%
:ﬁg
OG. -—| } 707
Ag > ; )
'9, 7 Q—‘\—‘K
9;9 OO 040 QP“’
/';;'q; S o & ‘.L\%\ .
‘S & <
% %9
N .
© &
O o ;
i) &
=] =] —_—
- - G E
5 8 Y . e LR N o~ i 1B
- 28 | es7[z3iM187 | = — 2z o)
DAYLIGHT OPENING o8 & =5 5 olg
e AN o4+ J|E Bk T + 3|2
(150 8 Be B TTT 29 T Qg
N o B = 2 e g f S
Lol b L [O,
K e g N o
] (G4 & g A 5 5
°'3§" o~ Cl-mt X doda — [ . .i.
58 by . L 687[2-31M167 _ | ; 2
2 <bin 2 DAYLIGHT OPENING 9 e
41 le4 § JE 3 e e -
G 8 . .
= =] =]
c'?_;r § - chk—¥ -~ 2
@t'g?' e Al s ] " R e sl 1l
AN = =
R L e e — e e e | e e S
|._287 | 178 wgeal 178 | 287 | :
, T T 1 — I 10" 10 Bya“ d SyB“ 10" 100 g
1A %M 7 VH L l ' l =.I;1 | l !— ,!
1829 L 1829 |
! 1Al : 1
[6-0" max ] [6-0" frame width]
TRERT The sections through the units show the
U overall size and configuration of the members.
WINDOWS For details of hardware within the members,
see the hardware details on sheets 14 through 17.
s, N 704 )
7 A
5 % ' &
&
Gmm screws
ltem K, sheet 18
(typ: all arcund)
+ | + o . = —+ | + :
/159 SPie 5 _ es7[2a1e] | "
L ee73i1e) |l IF - DAYLIGHT|OPENING -
v T DAYLIGHT|OPENING L.l N -
,_‘5 ko (0]
F: gE | F Y =
—uwl - ~ -~ ]
50 ol 8 t5 ol B
1B éE c g. _E o wudomin g;';—; g L T E
W E s Q5 28 s
fir——E -t 2 o Ll 2 Jd
ols
gﬁgg SHES e [ N
c % %
J--iB ’f“x; — g —
&, a2}
g,_?’!f\, g B main ] g L o .
w8 ¥ *
C
A A A N T T
O oF A - ® ] 1 1 o
s L L ! IS .
1 _bdod 178 | zer " I ) ;
N e o | v | o b4 §
: 969 L 969 | "
t
[3-2 1/8" max.] [3-21/8"max]
)
10,11,12
PRODUCT REVISED .
WINDOWS as copplying with thoFleride i
Cede
Actsptence No 02- 110Y. 1%

Design Pressure Rating (Positive) +55 PSF
Y,

Date 9FT )7, 22000
. A [, .
Design Pressure Rating (Negative) | .67.8 PSF k’%ﬁ;‘m %

Divislox




A O TR

ischler und Sohn {U.S.A) Lid. DADE COUNTY - FLORIDA -~
Six Suburban Avenue TEST|NG OF wOQD WINDOWS & DOORS VIPIN N. TOLAT. P.E

Stamford, CT06301 USA FL HIéG # 12&34} ' gt
Tel.: 203/674-0600 QUARTER ARCH ELEVATION OF Sl A

Fax: 203/674-0601 8-0" MAHOGANY INSWING TURN & TILT WINDOWS STl

E-mail: twedt-tischler

ISCHLER 940 SOHN

@worldnetaitnet | Date: May.03,2001 | Revised: 10/30/02 | Sheet 4 of 17 Scale: 1/2=1-0"(1:24) | Drawnby: RJ / | Drawing No. T8-19

/

&)
‘ &
oty W D .
. &R B, .
A8 yﬂ&r— %, M
PPN Oy Cr\ $ T
e\ u o
i fown d
e—% = ('_z!2 X 6mm screws
22 Bl— i - Hem K, sheet 16
Ta g 5 sl 1. {typ. alt around)
«©
(159 A RIERS >3
20 3 29 %
w2 ol poi
7/ g o CF
fu} gl-4 O, 0o
g sttt
— —%‘ 3 L ] 1=
é | 687[2-31/167 | | é;o- ... 887[2312167 | _ ] -
o DAYLIGHT OPENING o DAYLIGHT OPENING
<t E C B}— g_ E 7——~o-nm W A
do &e Sh 3 5
®, AE———— - e O HE
T 5% 1t
C| % ¥
) B &
o, )
g8 §x T 8 t
8 U?? = ¥
¢
e - — e e L
1 @ I I ”I’GeH g};@g % | ] I ] i
287 178 16362
D }5%6"! o l g } ¢ !59/16"1
969 I 969 {
[3-2 1/8" max.] ' [3-2 1/8" max.]
m The sections through the units show the
W overall size and configuration of the members.
WINSOWS For details of hardware within the members,
see the hardware details on sheets 14 through 17.
’9
‘ . # %, :
N £\
1‘-*[\:6 2 N 2 OSA S
} o
gg = 2 ¥ 6mm screws
= & Bt = & 7 Rem K, sheet 16
m -& - a ral {typ. all around)
v 22 2z
[re g o 1o e} ht
&% <) 8%
[a] B~ o
_ AL -4
é . 887[2-31/18" - é AN ... 687[2-31/167 . -
() DAYLIGHT OPENING o DAYLIGHT OPENING
g_ _.E R C Bl“'—‘ + g E -{—- okl .mm—]-"‘_
o B & o =
2, A — — — — — ks 2y E
(% 8| % e b
is ¢ % %
& iy T % -
B B,
é 5.5"':(\‘ s sy g L e
8% ¥ v
C
e A A AL o TL T
1 1o l@ M MG 1-at 3% L i I )
287|178 k352 | o : ! ]
1 1}{;‘ 74 A 15/161 g ! g ! 9. F%Q]!
969 -~ L 969 |
[8-2 1/8" max.] ' [3-21/8" max]
[\
10,11,12
WINDOWS ‘ PRODBUCT REVISED
- with thoFloride ,
Ww%—/lag- 13 .
Design Pressure Rating (Positive) +55 PSF ol !
; - ; r 1S he . KA :
Design Pressure Rating (Negative) -67.8 PSF :’;..; Dade
Divisiop

-
i

S T



| oo ung Som (USAy L DADE COUNTY - FLORI

Six Suburban Avenue TESTING OF WOOD WINDOWS & DOORS VIPIN N. TOLAT. P.E.
Stamford, CT08901 USA EL FH:;G @ 12'84%
Tel.: 203/674-0600 ELEVATION OF . .
Fax: 203/674-0601 6-0" MAHOGANY INSWING TURN & TILT WINDOW
mai: Gtwedt-tischl
ISCHLER 0 SOHN | *™" Guorchetainet | Dater May.03,0001 | Revised: 10/30/02 | Sheet 5 of 17 | Soaler 1mmrr (1o | Drawnbyr /| Drawing No. T5-19

2%' 8%‘ 7&" e 8 8 8 8, 8mm screws
Item K, sheet 16
__|ss 213 . 192 \ 8/ l ! | ! ! f / m
l _ i _
X % il o) H i } } —Z
(1597 ] I NF -1
\_/ B P8 )
1 oftcromome L] R T o méﬁféi’éﬁke T = %
i DAYLIGHT OPENING
g fr ¢ ] e idn nmm.—%_
TR 2 5
R A
(D F -%—-——- L o —_ (D [ T PRI A
[Ty] = Z s 10 > - -
B - ey = ol 8 2 o 2B
=9 QE - £ O +—1 QIE
ol 25 ¢ Qe g LE R
=, o) 2 N3 e o
Ex"?&" 2 Z‘( 'j)N o Lt w g —
o5 = Q 2 ® I u o ot v
8 F :% = =
e
. & f el s 1.
® = Y 8 5 &
l s S [ S TR Y
Slae  [HLA & A . i
1o ip ol v Cl, =] ©
-.—-% I N 4 G2 \—(';D 8? (I g ! E 5 ]
53 178 | 287
=y — [ i 8" t g" ] 8 ! [
z p g } ; ! !
915 915
[3-0" max.] [3-0" max.]
10,1112
WINDOWS

The sections through the units show the

overall size and configuration of the members. :
For details of hardware within the members, '
see the hardware details on sheets 14 through 17.

Design Pressure Rating (Positive) +55 PSF
Design Pressure Rating (Negative) -67.8 PSF

PRODUCT REVISED
£3 copplying with theFlorids
Buidilg

, Code
Acceptance No g 2.-/[0Y4.12
Expiration Dews 207/ 2, 300

ololag | Luals
Mismi Dade Con

Division

R R N TS R SR



et s o 554 L DADE COUNTY - FLORIDA

Six Suburban Av TESTING OF WOOD WINDOWS & DOORS

Strford, oTogsor U VIPIN N, TOLAT, P.&
Tel.: 203/674-0600 ARCH TOP ELEVATION OF Sl

Fax: 203/674-0601
£-maii: Stwedt-tischler

6'-0" MAHOGANY INSWING TURN & TILT WINDOWS

T T B S e S R SRR

~

W@\’b‘“y |

%

@worldnet,att.nst Date: May.03,2001

Revised: 10/30/02

Sheet 6 of 17

Scale: 1/2'=1.0" (1:24)

Drawnby: RJ /

Drawing No. TS-19

The sections through the units show the

overall size and configuration of the members.
For details of hardware within the members,

see the hardware details on sheets 14 through 17.

O N N 157 381 320 as2
] | Q | | & s E] 15
; ; § : % % S [} jur‘ W o3 ©
o ] &i ] — ;] 8 = 5 N 4 i [ eox]
T o 5 \8 N3 o]
o9 b —_ =
-:03_- £ 3 A é 2
JR S/ - Gy s ™
Qo | TN 1520 [4-11 13/16°] Qo 248 5 1520 (411 13/18]
Sl |° o= DAYLIGHT OPENING 3o Q= DAYLIGHT OPENING
% B A—— 2 = gz 4> 2 g_
el P Ak i
% 4 5
-"2 % is % i Iy I@ i
i 5 ! } % (%] T [+) T
3 [
ol | ool o] IR
Le 1o | a0 | 10 | 1o | 10 a0 ™ 42 305
. 1?30 b 866 [2-10 7/8"]-—-——_44
[6-0" max.]
1830
[6-0" max.]
6, 10 .10 10" 10", 10" 10" _ 6
| | | ! | ] [ | 157 381 820 382 375
i i i | i s i & 15" 2 15° 147 g"’!’t‘
o ! i ! ! } i ! |
2] _ == % N ’f_.i LS ] =1 © ] e
= N =
@ _,______gw 1520 {4411 13/167] % L = 4= i o=z )
— 2 N
@ o §3 DAYLIGHT OPENING & R o 1520 [4-11 13116] ho
Slo 1 ;{E o = =&  DAYLIGHT OPENNG & o,
—t 2 1
3l | 2z Qe =y £w -
[ S o m= —-— IS (=] I
-'% £2 3o Qa2 B
. z 2 S -
B A — Z
¥ [o]
I B e e— —" :
i H T T go T _ OE?
! 6 ! 10 ! 10" ! 10 l =GOt y :%,, 17’}, 132}, 7
5, .
== 80 444 342
l 1830 3E3 -
I Wl 8 X
[6-0" max.] zo8 8662410 /8] ———er %
OB s
528
az 1830
-0 max.
i 6" | 10° i 100 10 . 1g l 10, 10" 8 [6 ]
: ; } ! ! | 157 381 320 382 875
= ) T ; ' ' &' 15" 12 18" 14
T 1520 [4-11 13/16'] g .
| ESURIUN = B L) 5] o
o @ p3 Z/ 2. 1 ]
@ i g DAYUGHT OPENING g HE m'E-A"E?_ N ; —
Lo - %ﬁ NG ~ 5 - 1520 [4-11 13/16"]
— ) Q .
g = = o3 = s E% DAYLIGHT OPENING
JR SURENY SO m > ' a
: =z Q = =
TP 8” (I o3
© Il %E
L e ; 1 e T O
i % ] H 3 2 — 54
i i i i i o
i H H 1 i
f & | 10" l 10" ’ 10° | 10" l 8L L - _n
1830 3%' 17%' 13&“ 12
[61_011 max'] 180 444 342 305
peo——— 866 [2-10 7/87] -—-—J
i 6" [ 10° l 10 | 10" } 10" ] 10" G (g?erfax]
i 3 i ] 3
I 1 T 1 ;
= o A ¥ 157 381 320 382
T ' 18 12 15°
= |z 2. s
cg . 5§ “f— g‘ 3. g' LT (5] 53] %
5O e BN 1520 [4-11 13/16'] o\ =& g 4 i ==
g o ® o DAYLIGHT OPENING 8 \8 ~ 3 o
e m= B
: Za — o
— % 53 + @ g g 8 -+
(o] - w5
3o ] =1Q© s;;.@ 32 1520 [4-11 13116
- N t . - N g w0 Q@ DAYUGHT OPENING
I i | 1 i ) o3
{ 1 T i 1 Ko e EE -+
1 o]
| 6 ’ 10" | 10" l 10" ' 10" ﬂ
fot i ! . sy
%C) "nr [9) _51
T
| 1830 w 3
1 1
[6-0' max ] 5 N P S
PRODUCT REVISED - 7! 342 305 &
as with thaFlorida
o 866 [2-10 7/8] ———-ol
Design Pressure Rating (Positive) +55 PSF 1830
) H . N I_ il
Design Pressure Rating (Negative) | -67.8 PSF [6-0" max ]
SRS M R S

KIS




Tischier und Sohn (U.S.A) Lid.
Six Suburban Avenue

DADE COUNTY - FLORIDA
TESTING OF WOOD WINDOWS & DOORS

Stamford, CT08901 USA
Tel.: 203/674-0600

Fax: 203/674-0601

JAMB SECTION OF
MAHOGANY INSWING TURN & TILT WINDOWS

FL. REG.# 12847

)

VIPIN N. TOLAT, PE. M
Bl
J

dtwedt-tischler
E-maif:
e @worldnet.att.net

TISCHLER YN0 SOHN Date: May.03,2001

Revised: 10/30/02

Sheet 7 of 17

Scale: 1/2'=10" (1:24)

Drawnby: RJ /
r

Drawing No. TS-19

GLAZING TYPE 1
OR TYPE2

wood setting
blocks (typ.)

2-1/8" /

brass-nickel wood screws - 3.5 x 35mm
(lenticular head), located 50 mm([1 15/16]
from each corner and 150 - 200 mm
(6"-8") distance between screws.

3-9/16"

push-in, dense

thermoplastic

weatherstrip with
mitered and fused
corners

uk
\*
19 e

EXTERIOR

159

%

3-1/2"

[\

one part gun foam -
Wurth AG - Germany
3/8"

SHIM SPACE

/5 11/16\

INTERIOR

Durasil W15 one part
compatible silicone

stainless steel
rough hardware - Siegenia Frank AG

brass-nickel wood screws - 3 x 40mm
150mm O.C. (6'0.C)

90/66
| g
L Y,
2 X stud
2-3/16] | |
ltem K, Sheet 16

paint and stain by Glasurit -BASF

paint = 3 coats

first: dip with Glassomax

window primer(BG61-001611074)white
second: first finish Glassohyd venti
lacquer(BW59-02000101)

third: final finish Glassomax venti
special(BD60-00150102)

&Mﬂlmwﬁ“

Asiptance Ng 7 2-]10Y. 13
e OLT 12, 000

Kapiration Date
By

Miam] Dai
Divisiog

4\4::\1-.

6




r ‘ Tischler und Sohn (U.S.A)) Lid. . DADE COUNTY - FLOR‘DA N
Six Suburban Avenue TESTING OF WOOD WINDOWS & DOORS
Stamford, CT06901 USA VIPIN N. TOLAT, P.E. /g{()/%//
Tel.: 203/674-0600 HEAD SECTION OF ' L REGA# 12847 j%\x f_z,\\g
Fax: 22:;2:‘;@3 MAHOGANY INSWING TURN & TILT WINDOWS /Q e
_maii: diwedt-tischler
TISCHLER 90 SOHN | “™" @uoridnetatnet | e May.08,2001 | Revised: 10/30/02 | Sheet 8 of 17 | Scale: 1/2’=1-0"(1:24) | Drawnby: RJ / Drawing No. TS-19

/

one part gun foam -
Wurth AG - Germany

stainless steel

rough hardware - Siegenia Frank AG
LLJ brass-nickel wood screws - 3 x 40mm
=
S5 2 X stud
20 =
- P
k m / ltem K, Sheet 16
paint and stain by Glasurit -BASF ( W -
paint = 3 coats ’/ |
first: dip with Glassomax =
window primer(BG61-001611074)white ©
second: first finish Glassohyd venti 1 5 8 &
lacquer(BW59-02000101) o o\
third: final finish Glassomax vent = 0es = v
i ] o)) %
special(BD60-0015010 & / INTERIOR
I ;Q-O
—— =
brass-nickel wood screws - 3.5 x 35mm T@ ﬁ/ww% M?ﬁ shin, Ide?se
(lenticular head), located 50 mm{[1 15/16'] \& N : vser?tﬁgrgtsrilc with
from each corner and 150 - 200 mm(6"-8") \ ‘ X mitered and ?used
distance between screws. T T~ ¥ = COMmers
™ R3
QV S
wood setting : (o)) N
blocks (typ.) — —
_ .
EXTERIOR l
GLAZING TYPE 1
OR TYPE 2
Durasil W15 one part
compatible silicone
PRODUCT REVISED
o oo Mmmm
Acitptuece Mo 02- 1|05 |

2-1] ¢ 12
Kairation Dete 507 [ 2., 2001

Divisley




1

TISCHLER U0 SOHN

Tischler und Sohn {U.S.A) Lid.

Six Suburban Avenue
Starnford, CT06901 USA
Tel.: 203/674-0600
Fax: 203/674-0601

«. dtwedt-tischier
E-mail;
el @worldnet.att.net

DADE COUNTY - FLORIDA
TESTING OF WOOD WINDOWS & DOORS

STILE SECTION OF
MAHOGANY INSWING TURN & TILT WINDOWS

VIPIN N. TOLAT, P.E. /g%ﬁjb
FL. REG.# 12847 Ma/
%
Yoo

Date: May.03,2001

Revised: 10/30/02 Sheet 9 of 17

Scale! 1/2'=1-0" (1:24)

Drawn by: RJ / Drawing No. TS-19

brass-nickel wood screws - 3.5 x 35mm

(lenticular head), located 50 mm[1 15/16']
from each corner and 150 - 200 mm (6"-8")

distance between screws.

g GLAZING TYPE 1

OR TYPE?2

7

19 5 19
=
1 &7 ~
! 12
Tl o el 12
astragal glued to frame ,
w/ DURO-LOK 260 glue pusf-in, dense .
by National Starch & therg}ﬁggﬁ%‘g " \g’IOOi S?tm”?
. | we Wi ocks (typ.
Chemical GmbH - Germany mitered and fused yp
EXTERIOR oo
2-3/8" 2-1/8" ) 2-3/8"
= GLAZING TYPE 1
\ \ / / OR TYPE?2

Durasil W15 one part
compatible silicone

paint and stain by Glasurit -BASF
paint =
first: dip with Glassomax

3 coats

Sy
Tt Y N
N N e, AN
>
u
E N
% \\ 54/11 ))
I 1
\ /
2-3/8" 2-1/8"\ | 2-3/8" |
\ / 6 7/8" |
8 mm x 40 mm[5/16"x 1 9/16"] steel
INTERIOR thru the all lenght of sash

stainless steel

rough hardware - Siegenia Frank AG
brass-nickel wood screws - 3 x 40mm

window primer(BG61-001611074)white
second: first finish Glassohyd venti

lacquer(BW59-02000101)
third: final finish Glassomax venti
special(BD60-00150102)

5screws [1/4"x 11/2" 2" Fee, 19 1/2'0c
glazing screws went thru clear holes

PRODUCT REVISED

- with theFloride
Aeptance No. 5 2- /[0, ] 2
lmm::_m—i—&zwé

. leha ).LL_
Mt e Bk

Bivision




Six Suburban Avenue TESTING OF WOOD WINDOWS & DOORS VIPIN N. TOLAT, P.E.

Stamford, CTosg01 USA
Tel.: 203/674-0600 SILL SECTION OF FL. REG.# 12847 L)

Fax: 203/674-0601 MAHOGANY INSWING TURN & TILT WINDOWS

E-mai; diwedt-tischier

V‘lllw Tischler und Sohn (U.S.A) Lid. DADE COUNTY - FLORI DA

TISCHLER s SOHN @uorldnetaitnel | Date; May.03,2001 | Revised: 10/30/02 | Sheet 100f17 | Scale: 1/2=10"(124)| Drawnby: RJ / | Drawing No. TS-19

Rainguards/metal gutter:
special extruded aluminum profile
with white baked enamel finish

/
GLAZING TYPE 1
ORTYPE 2
Durasil W15 one part brass-nickel wood screws - 3.5 x 35mm
compatible silicone (lenticular head), located 50 mm[1 15/16"]
from each comer and 150 - 200 mm (6"-8")
distance between screws.
2_3/ i1 _
| v
Y
/ e

wood setting / [ push-in, dense
blocks (typ.) thermﬁplastic .

: i : = therstrip wit
paint and stain by Glasurit -BASF 25 | — \ed
paint = 3 coats - 89/70 é/ 3} ngtct)erarzgcr:isand fused
first: dip with Glassomax e’ Y/I 12 3/4" N v
window primer(BG61-001611074)white <N i = g -
second: first finish Glassohyd venti / &
lacquer(BW59-02000101) > _—
third: final finish Glassomax venti N P o
special(BD60-00150102) / . ﬁ —

EXTERIOR = \ %

\ stainless steel

mounted onto the bottom jamb with < 90/66 _

stainless steel wood screws 4 x 16 mm. Gel é%“%miga{:%ri{;
First and last fastening point 50 mm (2) 1 42 AN bre?ss-ni ckel wood
from each end. Distance between ' D sorews - 3 i 40?“nm

fastening points 230 mm (9") (9 screws total).
stainless steel wood screws 4 x 16 mm.,

Weep slots 25 x 2.5 mm (1" X 3/32"). Distance
between weep slots 115 mm (4 1/2')(14 total).

Guiter is sealed against vertical . - —
jambs on both ends with silicone. Shim Space S [] QSUZJ?R § 55 W?Jr;t?\ %aét g(u3ne rfr?gr]wqy-

3/8"

T ltem K, Sheet 16

2 X stud o cogPiiog wih AP

Code
Acckptance No22-[[0Y /%
Expiration Dlt'eez-—-g___zgm 12006

By | Clyacy g Alawk
Miasmi Dade Product C

Division




DADE COUNTY - FLLORIDA
TESTING OF WOOD WINDOWS & DOORS

SILL SECTION OF
MAHOGANY INSWING TURN & TILT WINDOWS

Tischler und Sohn (U.S.A) Lid.
Six Suburban Avenue
Stamford, CT06901 USA
Tel.: 203/674-0600

Fax: 203/674-0601

E-mail: dtwedt-tischler

1

VIPIN N. TOLAT, P.E.
FL. REG.# 12847

/

TISCHLER 90 SOHN

@worldnetattnet  Date: May.03,2001 | Revised: 10/30/02 | Sheet 11 of 17 | Scale: 1/2'=1-0" (1:24)

Drawnby: RJ /

Drawing No. TS-19

Durasil W15 one part
compatible silicone

wood setting
blocks (typ.)

brass-nickel wood screws - 3.5 x 35mm
(lenticular head), located 50 mm[1 15/16"]
from each corner and 150 - 200 mm (6"-8")

distance between screws. —

Rainguards/metal gutter:
special extruded aluminum profile
with white baked enamel finish
mounted onto the bottom jamb with
stainless steel wood screws 4 x 16 mm.
First and last fastening point 50 mm (2")
from each end. Distance between
fastening points 230 mm (9") (9 screws total).
stainless steel wood screws 4 x 16 mm.
Weep slots 25 x 2.5 mm (1" X 3/32"). Distance
between weep slots 115 mm (4 1/2")(14 total).

i 90/66

142

3-1/8"

| push-in, dense
\f thermgplastjo i+
aint and stain by Glasurit -BASF = weathersirip wit
gaint = 3 coats / = 8370 é T rgg(rerzgcrjsand usec
~. & =
first: dip with Glassomax P (/’/ ¢E\ 2 3/4" N 7
window primer(BG61-001611074)white N g L
second: first finish Glassohyd venti A |
lacquer(BW59-02000101) —_—
third: final finish Glassomax venti 1N — o
special(BD60-00150102) / v —
EXTERIOR J 5 3,

Gutter is sealed against vertical S

mSpace TN RRR

jambs on both ends with silicone.

3/8”

2 X stud

one part
Wurth AG

IN'
\ stainless steel

rough hardware -

Segenia Frank AG
brass-nickel wood
screws - 3 X 40mm

'ERIOR

gun foam -

- Germany

T~ ltem K, Sheet 16

PRODUCT REVISED

Expiration

me
Neg2-/lcY. 13
Pute 2CT 12,200

my_<lias |.

AH.A‘\
Mismi Dade uet Cenitrol

Division




Stamford, CT06901 USA

. REG.# 12847 °
Tel.: 203/674-0800 SILL SECTION OF FL REG.# 128 /7)5:\4 \9\\

V W Tischier und Sohn (U.S.A) Ltd. DADE COUNTY - FLORIDA :
Six Suburban Avenue TESTING OF WOOD WlNDOWS & DOORS ‘ VIPIN N. TOLAT, P.E. /l/
Fax: 203/674-0601 MAHOGANY INSWING TURN & TILT WINDOWS

E-mai: dtwedt-tischler |
_TISCHLER 2 SOHN | ™™ @uorichetatinel | Date: Mey.08,2001 | Revised: 10/30/02 | Sheet 12 of 17 | Scale: 110 (124 | Drawnby. RJ / | Drawing No. TS49
7’

Durasil W15 one part
compatible silicone

=
. 2
wood setting 5 & GLAZING
blocks (typ.) 775, @ TYPE 2
% K
%
%o' B
| %
S
brass-nickel wood screws - 3.5 x 35mm \%
(lenticular head), located 50 mm[1 15/16"] \§
from each corner and 150 - 200 mm (6'-8") Z
| distance between screws. 7
T %
push-in, dense

\ L thermoplastic
paint and stain by Glasurit -BASF __ weatherstrip with

© - :
paint = 3 coats = el :é;/ &y ”ngnrg%a”d fused
first: dip with Glassomax e {’/ 52 3/4" | = 7
window primer(BG61-001611074)white C\/gl = — & -

second: first finish Glassohyd venti

asnrdsarananaanabhana
A SRR e
2282 AR AR AR

lacquer(BW59-02000101) S
third: final finish Glassomax venti N -
special(BD60-00150102) / &

EXTERIOR

Rainguards/metal gutter:
special extruded aluminum profile

L
P

\_J 5
= \ INTERIOR

| with white baked enamel finish — \ .
mounted onto the bottom jamb with < 90/66 stainless steel
stainless steel wood screws 4 x 16 mm. rough hardware -

Segenia Frank AG

brass-nickel wood
screws - 3 x 40mm

3-1/8"

{First and last fastening point 50 mm (2" 1 42
from each end. Distance between

| fastening points 230 mm (9") (9 screws total).

stainless steel wood screws 4 x 16 mm,

Weep slots 25 x 2.5 mm (1" X 3/32"). Distance

| between weep slots 115 mm (4 1/2)(14 total). |
.

Gutter is sealed against vertical T -
jambs on both ends with silicone. shim Space \[f ORI UL JACEN TG | Wourrlteh%aét gél:%i?y'

3/8"

T~ ltem K, Sheet 16

2 X stud PRODUCT REVISED

B3 o with theFlorids

By_\ s !4«% ! LLt-vb\A
Minm} Dide et Control

Division




'I'ISI}IIlEII Uib SOHN

Tischier und Sohn (US.A) Lid.
Six Suburban Avenug
Stamford, CT06901 USA
Tel.: 203/674-0600

Fax: 203/674-0601

£-mai: dtwedt-tischler

TESTING OF WOOD WINDOWS & DOORS

MAHOGANY WINDOW FRAME
CONNECTION FOR ROUND TOP OVER 40°

VIPIN N. TOLAT, P.E.
FL. REG.# 12847

2 5/8"

3 9/16"

1/2n

1/2||

shaa i, LL\A\AJ«..
Mh-il)lde

2 5/8"

3 9/16"

1/211 1/2u

|
%

@worldnetattnet | Date: May 03, 2001) Revised: 10/30/02 | Sheet 13 of 17 ' Scale: Full (1:1) | Drawnby: K.M. / Drawing No. TS-19
7/
|
¥

by

rnonlfcrl:vm

m'_

coNe g2- /10413
EWWM.Q_LL.L?'” i




R RS TR

Six Suburban Avenue TEST[NG OF WOOD W|NDOWS & DOORS VIPIN N. TOLAT, P.E.

Stamford, CT0B901 USA FL. REG.# 12847
Tel.: 203/674-0600

Fax: 203/674-0601

HARDWARE LOCKING PARTS /

7

maii: diwedt-tischler
| TISCHLER W0 SOHN ™" G c/dnetattnet | Date: May 3, 2001]  Revised: 10/30/02 | Sheet 14 0f 17 | Scale: Full (1:1) | Drawnby: KM, Drawing No. TS-19

96

25

E-STRIKER (STEEL PLATE)

25

4 SCREWS - 4x60mm

E-STRIKER (STEEL PLATE) §

4 x 60mm

i3 (el'd
Vg

|

1 PART No. A0760
by Siegenia Frank Ag

A

wood screw

-}
v

i
«Iﬁiﬂ L )ﬁ ﬂ!\ e \J! %’L N
( i << - St z é PART No. A0420 %E

= = ’ by Siegenia Frank Ag

- T
5 %\-:—\;}yﬁm ! . E\ ;\\\L\ } NN T .

STEEL MUSHROOM CAM
96 B
f—_____./

)

STEEL MUSHROOM CAM

15

2 SCREWS - 4x60mm

—-———;——
LN VAN AN Y

C PART No. 1360 L/R
by Siegena Frank Ag

|| ®

AT
= s s

pn s
\4

Y

PRODUCT REvisEp
- Buidiby G, "1 (e Flrids
PRy .

N O Y

STEEL MUSHROOM CAM

R S S S T T R




Six Suburban Avenue TESTING OF WOOD WINDOWS & DOORS VIPIN N. TOLAT, P.E.

Stamford, CTos901 USA FL. REG.# 12847
Tel.: 203/674-0600

oo 20376740801 HARDWARE LOCKING PARTS

il Gtwedt-tischler :
nsenuzn WD SOHN | *™" @uoricnetattnet | Date: May 3, 2001, Revised: 10/30/02 | Sheet150f 17 | Scale: Full (1:1) | Drawnby:  KM. /]
7

PART No. AQ767
by Siegenia Frank Ag

60

90 §

27 BNEET 64 L

T 5

STRIKER
@ @ STRIKER
2 SCREWS - 5x40mm
2 SCREWS - 4x60mm
{ : v 1 i} ./ /%‘_ﬂ fo (\
ﬁg\ % PART No. 0420 %

¢ Mﬂx\ TS ST 7 ‘ R S S AN NS SIS NS SN N $

) i | W——— —— ) ) ) ! H A —— )]

X2

é:
?
B

18(11/16")

!
!
i
i
i
1
!
1
]

S ) D
l

1 LOCKING CAM LOCKING CAM

N |

POT HINGE

PRODUCT REVISED

PART No. 4 as complying with ibeFleride
Acceptance No_02-1(0Y - L2
Exfiration Dete T 12,7006

{ By l Qq ‘ LLUM“‘*

Division




— DADE LOR'DA S —
Six Suburban Avenue TESTING OF WOOD W|NDOWS & DOORS VIPIN N. TOLAT, P.E. fj&ﬂ/
a .
e

Starnford, CT06901 USA FL. REG.# 12847
Tel.: 203/674-0600 HARDWARE LOCKING PARTS M

Fax: 203/674-0601

ditwedt-tischler
TISCHLER 140 SOHN | ©™" gyoricnetattnet | Date: May 3, 2001 Revised: 10/30/02 | Sheet 16 of 17 | Scale: Full (1:1) | Drawnby: KM, / 4 Drawing No. TS-19

6 x 120 mm
corrosion resistant steel

installation screw
BTI GmbH + Co. —
ASTM A572

' grade 50
Fu = 65 ksi
, Fy = 50 ksi

sealant and backer rod

ce

makx.

INTERIOR

EXTERIOR

min. 1-1/2" penl 1

2 X 6 wood stud

or
Min. 2500 psi Poured Concrete Wall
or Concrete Masonry Wall

| Typical Anchor Installation
For actual shapes of members containing
installation screws, see appropriate sections.

101

/

— [ —

@ D%
@ STRIKER

1 WOOD SCREW - 4x60mm

18

1 MACHINE SCREW - 4x8mm

PRODUCT REVISED
o wn'ring with m

STEEL MUSHROOM CAM

RN TSN




Six Suburban Avenue TESTING OF WOOD WlNDOWS & DOORS VIPIN N. TOLAT. P.E.

??m;%r;eg Pt , FL. REG.# 12847 M
Fax: 203/674-0601 HARDWARE SPECIFICATION AND DESCRIPTIONS ;

dtwedt-tischier
SCHLER U0 SOHN == @worldnet.attnet | Date: May 3, 2001 Sheet 17 of 17 Scale: Full (1:1) Drawn by:  KM. / Drawmg No. TS-19

/

FAVORIT - 311E Entry Resistant by SIEGENIA

Single handle operated tilt and turn fitting with variable handle position, drillable, barrel stay support and cormner support (34mm -
15/16" diameter), E-characteristics: deadbolt projection, mushroom cam locking, protection against drilling, SIEGENIA EUROLINE DZ
handle (locking with press cylinder).

’ LOCATION LOCKING CAM STRIKER No. OF SCREWS SHEET No.

A STEEL MUSHROOM PART # AQ760 4 14

B STEEL MUSHROOM PART # 1360 /R 2 14

C STEEL MUSHROOM PART # A04020 4 14

E BARREL PART # A0767 2 15

F BARREL PART # 0420 2 15

G1,G2, G3, G4 POT HINGE PART #4 & #8 4 15

H STEEL MUSHROOM PART # A0762 2 16

K INSTALLATION SCREW . N/A 16

PRODUCT REVISED




